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Compose Two Sequences Number of “1”s and Number of “0”s in x(w)

Compose B with A: Wk = B(ak); wi = bi(ak)

W8 – Walsh Sequences of Order 23 = 8 Compose A with B: WK = A(bk); wi= ai(bk)  

Example 2: B = W8*, A = W4*, B(A)Example 1: A = W4* , B = W8*, A(B) CONCLUSION AND RESULTS

a1= (0 0 1 1) thus a1 = (1 1 0 0), Thus B(a)

b1(a1)=(1100 1100 1100 1100 0011 0011 0011 0011)

b2(a1)=(1100 1100 0011 0011 0011 0011 1100 1100)

b3(a1)=(1100 1100 0011 0011 1100 1100 0011 0011)

b4(a1)=(1100 0011 0011 1100 1100 0011 0011 1100)

b5(a1)=(1100 0011 0011 1100 0011 1100 1100 0011)

b6(a1)=(1100 0011 1100 0011 0011 1100 0011 1100)

b7(a1)=(1100 0011 1100 0011 1100 0011 1100 0011)

The length is: 23+2 = 25 =32

Number of “1”s = Number of “0”s =23+2-1=16

W0 = ( 0  0  0  0  0  0  0  0 )

W2 = ( 0  0  0  0  1  1  1  1 )

W3 = ( 0  0  1  1  1  1  0  0 )

W4 = ( 0  1  1  0  0  1  1  0 )

W5 = ( 0  1  1  0  1  0  0  1 )

W6 = ( 0  1  0  1  1  0  1  0 )

W7 = ( 0  1  0  1  0  1  0  1 )


